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Review Assignment

Brown & Lemay

#25
Symbol 52Cr HLn e f:‘ 7 n Ch
Protons 24 30 44 i 82
Neutrons ) 4 25 64 136 125"
Electrons 74 73 48 86 Yz
Mass number 5L 5y R 222 207
#26
Symbol 657Zn 5 R $9¢ ’“,Ac, B
Protons ) 44 Bt 41 92
Neutrons 55 57 49 i j43
Electrons 59 4y 38 47 gL
Mass number Gy~ joj £) 108 235
#49
Symbol 59Co*3 gus B L i ‘;Lo S-i = ?éi\“}q A
Protons 1 34 76 80
Neutrons JL 46 116 120
Electrons 14 36 1Y 78
Net Charge i3 -2 2 12
#50
Symbol 31p3- 1 B ”’"f, 17 Mlog ™
Protons (s 35 49 9
Neutrons fé 45 66 118
Electrons K 30 46 76
Net Charge -7 1- rad 3*
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Chapter 3
#12 Balance the following equations:

afpLi(s) + N2 (g) --)LisN (s)

b La203(s) 4H20 fi/--> La(OH)s (aq)

c. CazPa(s) E-FIQO (1) --=,Ca(OH)2 (aq) +ZI_3H3 (g)
dlAgN03 (ag) + Na2S04 (aq) --> AgaS04 (s) w:Z\IaNoe, (aq)

#13 Write a balanced chemical equation for the reaction that occurs when:

a. Copper (II) hydroxide decomposes into copper (II) oxide and water
when heated.

b. Heptane, C7H¢(l), burns in air.

c. CsH120 (1) burns in air>

¢ N 7 \;I
#21 Determine formula weights for the following: RESTIE _
‘ ¢, (%) 55214
a. HNOg3, Chromium (III) sulfate, benzoic acid, HC7Hs0O5,. ".-( % 3 5(7 2.1
| N
#34 and 36 Calculate the following quantities W5 jr2y 2

a. mass, in grams, of 5,76 x 103 mol of CdS | 22,;]
b. Nimber of moles of NH4Cl in 112.6 g of the substance. 2. [t "ol
c. Mass, in grams, of 0.0714 mol of iron III sulfate 27’)5> 7

#44

Determine the empirical formula of a compound that contains 0.104 mol of K,
0.052 mol C and 0.156 mol O KL ( 03

a compound that is 24.5 % mass Na, 14.9 %mass Si, 60.6 % mass F
#48 Mug 9, Fe

What is the molecular formula of a compound that has an empirical formula of

CH2 and a molar mass of 84g/mol C & ’4 VA

empirical formula of : HCO2 molar mass 90.0 g/mol Hl (?_ dL)L fff, =2
Ay

#50

"Z,( (1L )

Determine empirical and molecular formulas of:

a) Ibuprofin 75.69% C, 8.80% H, and 15.51 % O Molar mass 206g/mol C’3 H)EOZ
b) Cadaverine, 58.55% C, 13.81 % H, 27.40% N Molar mass 102.2 g/mol

Cs' H 14 Mo
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c) Epinephrine, 59.0%C, 7.1 %H, 26.2 % O, and 7.7% N molar mass, about
180 g/mol O

#60
An iron ore sample contains FexO3 and reacts with CO to produce Iron metal
Fe203 (s) + CO(g) --> Fe(s) + C02 (g)

Balance the equation c)’Z_ O +3C() -~ / L e F ?C v

Calculate the number of grams of CO that are required to react with 0.150 kg

of Fex03 (s %9 7{ 13

Calculate the number of grams of Fe and number of grams of CO> that form
when 0.130 kg of Fe2O t RS : i~
g of Fe203 reac gzq«§}€

[Ld. ¢ < v 2
#6064
25 b %
LCngs(l) + 02 --> COz2 (g) + H20 (1)
Balance the equation above for the combustion of octane

P .
How many moles of Oz are needed to burn 1.25 mol of CgH1s" K/(r; s | OZ

How many grams of water are produced from the combustion of 10.0 g of

octane? /¢/ J g My

Octane has a density of 0.692 g/ml. How many grams of Oz are required to
burn 0.500 L of octane?
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